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ü
ü
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ü
sikalin

e
su
u
ru
s,
m
ille

korral
p
eale

arv
äärtu

se
on

täh
tis

ka
su
u
n
d
.

•
T
ü
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ü
p
ilised

n
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jõu
m
om

en
t
p
u
n
k
ti
su
h
tes

M
=

r×
F
,

p
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ü
lik

u
n
orm

aalik
s
ja

seega
ka

A
ja

B
p
o
olt

m
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äärab

vaad
eld

ava
tasap

in
n
a
orien

tatsio
on

i
—

p
arem

a
k
äe
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äe

kolm
ik
u
.

•
N
ü
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õtet.

•
V
a
ba

in
d
eks

esin
eb

avald
ises

k
u
m
m
algi

p
o
ol

v
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õi

ten
sorile

erin
evad

m
aatrik

-
sid

.

•
Iga

ten
so
r
o
n
seega

esita
ta
v
m
a
a
triksin

a
,
ku
id

iga
m
a
a
triks

ei
esita

ten
so
rit.

M
illal

3×
3
m
aatrik

s
kom

p
on

en
tid

ega
A

ij
esitab

ten
sorit?

–
O
lgu

m
eil

ü
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